CHRYSLER B1955: POWER LIFTGATE LATCH RELEASE

OVERCURRENT
OVERVIEW
Severity
DIY Difficulty Level
Repair Cost : $100-$500
Can | Still Drive? : Yes

What Does The Chrysler B1955 Code Mean?

The latch motor stall current of over seven amps has been detected for over 300ms. with no ratchet
or secondary switch transition.

What Are The Potential Causes Of The Chrysler B1955 Code?

 Binding liftgate
Weak or deteriorated liftgate seal
Liftgate latch cinch driver circuit faulty wiring

Latch secondary position sense circuit faulty wiring
Liftgate latch release circuit faulty wiring

Logic ground circuit faulty wiring

Liftgate ajar switch sense circuit faulty wiring
Latch assembly
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